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Question #1( 9 marks)

The periodic signal shown applied to the following circuit

Where R = 10 ohm ,L=1/16 H
A Vs()

C=59F

»1259.

Find: 1- Co, C1,C2, Cs

2- Power dissipated in the resistance due to first and third harmom
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Question # 2(8 marks)

For linear system shown knowing that u U <
E(@O)=6(-1) = h{iw) = &
\(\oi

« )
() =0u) = Qs = —
SRS h1(t) h2(t) Vo,

Find V,(t) if Vin(t) given by: > ) L
1- Vin(t)y=u(t) = o) = 5W) + S¥
2- Vin(t) = 2 cos2t+45°) Ly 27 Jolu-w)y i waib) |
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Question # 3(8 marks)

a) For system shown, knowmg that Vm(t) given by the following signal , find and sketch i(t) if:

-z =sgi(®)  Z(w) = )V

.

2-2(jw) =™ Vin4)
[ = () . 2 N
Ef) ‘
s %}n@‘%’\? oS~
'+ Krow \f,,a(d&’) = \ v,
Lo C it} Hansyoim Phis )\2{“&\ \{M( y

b) Use Convolution to find Vo(t) = Vin(t) —
Knowing that h(t) and Vin(t) given by signals sh
Sketch Vo(t)
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